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QUESTION 1

Ten task workers in a remote branch office access Horizon VMs running Windows 7. The workers use PCoIP zero
clients over a 40 Megabit per second network connection. No GPO currently alerts the default Horizon PCoIP settings.
Which two Horizon PCoIP GPO settings improve user experience and help reduce the network bandwidth needed by
each Horizon zero client session? (Choose two.) 

A. Audio bandwidth limit 

B. Session bandwidth floor 

C. Build-to-Lossless 

D. Session MTU 

Correct Answer: BD 

Reference: https://docs.vmware.com/en/VMware-Horizon-7/7.3/horizon-remote-desktop-
features/GUID-6C22A209-AFC1-47EF-9DFF-39AFB38D655D.html 

 

QUESTION 2

An architect for Company A is working on implementing a VMware Horizon solution. 

1. Company A will be acquiring Company B in the coming months. 

2. Company B has an existing Active Directory structure and there are NO plans to move those users over to Company
A\\'s Active Directory structure 

3. However, users from Company B need to be able to use VDI desktops running in Company A. Which step could the
architect take to meet requirements? 

A. Use vdmadmin

Correct Answer: C 

 

QUESTION 3

When meeting with a customer, these VM template requirements for instant-clone are determined: 

1. 2 vCPU 

2. 4 GB Memory 

3. 20 GB OS disk 

Which is the formula to design a 40% utilization strategy for 80 desktops, given the above requirements? 

A. 80 * ((0.4 * 20) + 4) +20 
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B. 80 * (0.4 * 20) + 20 

C. 80 * ((0.4 * 20) + 4) + (2*20) 

D. 80 * (0.4 * 20) + (2*20) 

Correct Answer: A 

 

QUESTION 4

The IT Team at a small company wants to use Horizon Apps to deploy a specialized 3D modeling application with
image scanners using minimum storage space. It has installed RDS and the 3D application on a Master RDS VM. 

What steps remains in the deployment? 

A. Install Horizon Agent on the Master RDS VM including the 3D RDSH and Scanner Redirection options Clone the
Master RDS VM Create a manual RDS Farm using the clones Create a desktop pool Entitle the desktop pool 

B. Install Horizon Agent on the Master RDS VM including the 3D RDSH and View Composer options Create an
automated RDS Farm using the Master RDS VM Create a desktop pool Entitle the desktop pool 

C. Install Horizon Agent on the Master RDS VM including the 3D RDSH and Instant Clone options Create an automated
RDS Farm using the Master RDS VM Create a desktop pool Entitle the desktop pool 

D. Install Horizon Agent on the Master RDS VM including the 3D RDSH and Serial Port Redirection options Clone the
Master RDS VM Create a manual RDS Farm using the clones Create a desktop pool Entitle the desktop pool 

Correct Answer: A 

 

QUESTION 5

Which three options need to be considered when implementing multiple vCenter Server in App Volumes 2.x? (Choose
three.) 

A. Datastore names must be unique. 

B. Each vCenter must use the same credentials. 

C. Host names must be unique. 

D. Portgroups must be unique. 

E. Each vCenter must support Cross vCenter VMotion. 

Correct Answer: ABE 
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